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PART I.  Introduction.





This form is for a stationary source qualifying for a registration permit on the basis of actual emission calculutions under Option D.  





PART II.  Qualification.





Calculation 1.	Individual Hazardous Air Pollutant (HAP) Actual Emission Calculation.


	(For a list of the 189 Hazardous Air Pollutants refer to the Registration Permit Handbook)





HAP NAME�
ACTUAL EMISSIONS�
�
1.�
tons/year   must be < 5 tons/year�
�
2.�
tons/year  must be < 5 tons/year�
�
3.�
tons/year  must be < 5 tons/year�
�
4.�
tons/year  must be < 5 tons/year�
�
5.�
tons/year  must be < 5 tons/year�
�
6.�
tons/year  must be < 5 tons/year�
�
Add additional HAP’s if more than 10 different HAPs are emitted





Calculation 2.	Total Hazardous Air Pollutant (HAP) Actual Emission Calculation.





HAP-type 1 total + HAP-type 2 total ...+ HAP-type n  =  _________ tons/year  must be < 12.5 tons/year





Calculation 3.	Particulate Matter (PM) Actual Emission Calculation. 





PM total  =  _________ tons/year  must be < 50 tons/year





Calculation 4.	Particulate Matter less than ten microns (PM10) Actual Emission 	Calculation. 





PM10 total  =  _________ tons/year   must be < 25 tons/year in a PM10 non-attainment area


PM10 total  =  _________ tons/year   must be < 50 tons/year in a PM10 attainment area





Calculation 5.	Volatile Organic Compounds (VOC) Actual Emission Calculation.





VOC total  =  _________ tons/year   must be < 50 tons/year





Calculation 6.	Sulfur Dioxide (SO2) Actual Emission Calculation.





SO2 total  =  _________ tons/year   must be < 50 tons/year





Calculation 7.	Nitrogen Oxide (NOx) Actual Emission Calculation.





NOx total  =  _________ tons/year   must be < 50 tons/year





Calculation 8.	Carbon Monoxide (CO) Actual Emission Calculation.





CO total  =  _________ tons/year   must be < 50 tons/year





Calculation 9.	Lead (Pb) Actual Emission Calculation.





Pb total  =  _________ tons/year   must be < .5 tons/year





PART III.  Material Usage Records Statement.





1.)  VOC-containing materials records based on: q Purchase q Use q Not Applicable





2.)  HAP-containing materials records based on: q Purchase q Use q Not Applicable





3.)  Fuel usage records based on: q Purchase q Use q Not Applicable








RP-D1:  Page �PAGE�1� of 2











